Sapient Placement Paper


Questions: 
Round1: 
1) Abusive Words 
A message was given in which we have to replace abusive words like (stupid, fool) with # or with other letter. No. of # depends on conditions like it can be equal to the length of the word like stupid is to be replaced with ###### but in my question an abusive word has to be replaced by ### (3 #) only. The word is listed in some look up table in Max_list_word.
Logic will remain same but there will be slight variations, so read the questions carefully. 

2)Train Reservation 
There are 67 seats in a train in which there are rows of five seats and last row contain only two seats. A person can allocate maximum 5 seats on his name. Also last 2 seats are to be allocated first if reservation for 2 seats is demanded. Also customer should be allocated seats in a row or nearby seats if not possible. 
The following class is given
public class seat
{
char name;
int seat;
boolean isSeatempty
}

Write function seatallot(int noofperson) to allocate seat with seat nuber printed for the each name.

Round2: 
1) Compression of a string 
Take any string and we have to compress it so it can be passed over a congested network easily. If string is AASSGGTHMMEG then compressed string will be A2S2G2THM2EG. But in my question compressed string should be 2A2S2GTH2MEG. So again read the problem carefully. If compressed string contains letters other than alphabets or digits i.e. if compressed string is like 2A3DY(3!%#^*2@)A2S then all these non alphanumeric characters should be cleaned off. 
We have to make functions: 
Compress() 
Clean() 
) Post mail Question 

Conditions are given like if you cover some distance you have to pay this amount, if postal weight is this then u have to pay this amount.
Thus five to six conditions are given, you have to write the program ￹FPRIVATE "TYPE=PICT;ALT=[^]"[image: image1.wmf]to get the cost of post-mail per company depending upon its destination and weight.
Very simple program just use if and else loop.
Given: getdistance() is function which gives you the distance between two cities. 

Conditions are: 
Weight<15 gm and Distance<100 km then cost=Rs. 5 
Additional cost of mail should be calculated according to the following slab 
Weight 15-50 gm = Rs. 2/gm 

>50 gm = Rs. 3.5/gm 
Distance 100-500 km = Rs. 1/km 

>500 km = Rs. 2/km 

(Here charges are factious to just give you an idea of the question) 
If the cost of the mails exceed Rs. 1000 then 20% discount is offered to the company. 

Report has to be generated per company displaying there mail details for a single day. 
Mails with weight less than 15 gm and distance less than 100 km are : 
Mails with weight 15-50 gm are: 
Mails with distance 100-500 km are: 
Mails with weight greater than 50 gm are: 
Mails with distance greater than 500 km are: 
Total cost due to mails to company: 

Also mail reports should be printed in sorted order for each company.

